SUZO C% H APP Bill-to-Bill Currency Management System Instruction OPT-BB-INST-5

Instruction OPT-BB-INST-5

Bill-to-Bill Currency Management System

SECURITY LOCKS INSTALLATION

Lock Installation in the Housing:

Step #1. Remove the Screw (8201935) and Hatch (5201227) DO NOT DISCARD!
(Please see FIG. 1.)

Step #2. Remove and discard the Tapping screw (8201930), Bushing (5206048),
Handle (5206049) (Fig. 1).

Step #3. Install the lock and parts, as shown below (Fig. 2).

Step #4. Install the Hatch (5201227) and Screw M3x20 (8201935)

that were removed  (see Fig.2)

Screw M3x20
(8201935)

Hatch
(5201227)

Bushing
(5206048)

Handle
(5206049)

_ )

’ %ng screw, #2x1/4

®
201
@ X . (8201930)
~

¢

Remove parts of shipping latch
FIG. 1 -

suzohapp.com/Bill-to-Bill

SUZO-HAPP GROUP 1743 Linneman Rd. Mount Prospect, IL 60056 USA | Phone 1-847-952-5932 | Toll Free Phone 800-2839-7017 | Email: Bill-to-Bill@suzohapp.com



Bushing
(5210082)

DOM Lock 225-08

Camlock 13
7
“10 camlock &

A
b 0% !(c@ Camlock 3"
)'«‘/€(c@\
\ Bushing

(5210080)

Bushing

e (5201227) (5210081)
crew M3x20
(8201935)
Install Lock
FIG. 2

Lock Installation in Chassis:

Step #1.
Step #2.
Step #3.

(Fig. 4)

Step #4.
Step #5.
Step #6.
Step #7.

Remove the chassis from the housing
Remove the dispensing cassette from the chassis
Unscrew two screws and remove the lock bracket from the dispensing cassette

Install the lock into the lock bracket (Fig. 5)

Install the lock bracket into the dispensing cassette (Fig. 6)
Install the dispensing cassette into the chassis

Install the chassis into the housing

Variant 1

Mounting kit
OPT-MK-BBD,

that includes :

Cam 5106018 ,
Washer 5110034-01
is enclosed

Variant 2

Mounting kit
OPT-MK-BBD1,

that includes :

Lock Washer 8203012;
Cam 5106033-01;

Nut 5310021,
Washer 5310022,
should be ordered
separately.

o~

Lock and its parts

1S
am /
6018) \
Washer
(5110034-01)

15.88 [5/8"] only.

6.35 [1/4") max

022.2 max 4 Jﬂi

5.56 [7/32"]

219.05 [3/4"]

15.88 [5/8"]

©7.14[9/32]

Nut Cam
(Lock's Part) (5106033-01)

@

Lock Washer M10
(8203012)

|
s

suzohapp.com/Bill-to-Bill

SUZO-HAPP GROUP

1743 Linneman Rd. Mount Prospect, IL 60056 USA |  Phone 1-847-952-5932

| Toll Free Phone (US ONLY) 800-2839-7017 |

Email: Bill-to-Bill@suzohapp.com





